Transfers Report

This report contains the transfers results.

Contest Name	Ward 2 - Grangemouth
Valid Votes	5,043
Positions to be Filled	3
Quota	1,261

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
David BALFOUR	Scottish National Party (SNP)	1,808
Marc BOZZA	Independent	157
Mandy BRYSON	Scottish Conservative and Unionist	685
John HASTON	Scottish National Party (SNP)	454
Stuart MARTIN	UKIP	27
Alan NIMMO	Scottish Labour Party	1,179
Robert SPEARS	Independent	611
Rhys STENHOUSE	Scottish Green Party	122
	Total	5,043

Candidate David BALFOUR Elected with 1,808 votes, being in excess of the quota of 1,261

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of David BALFOUR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Marc BOZZA	29	0.30254	8.77366
Transfer to Mandy BRYSON	30	0.30254	9.07620
Transfer to John HASTON	1,388	0.30254	419.92552
Transfer to Alan NIMMO	109	0.30254	32.97686
Transfer to Robert SPEARS	115	0.30254	34.79210
Transfer to Rhys STENHOUSE	51	0.30254	15.42954
No further preference	84	0.30254	25.41336
Not transferred due to rounding			0.00768
	Total		547.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Stuart MARTIN

Action	No. of Ballot Papers		Transfer Value	Votes Transferred
Transfer to Marc BOZZA	2	4	1.00000	4.00000
Transfer to Mandy BRYSON	7	7	1.00000	7.00000
Transfer to John HASTON	, ,	2	1.00000	2.00000
Transfer to Alan NIMMO	ţ	5	1.00000	5.00000
Transfer to Robert SPEARS	, 4	2	1.00000	2.00000
Transfer to Rhys STENHOUSE		1	1.00000	1.00000
Transfer to John HASTON		1	0.30254	0.30254
Transfer to Alan NIMMO		1	0.30254	0.30254
No further preference	6	6	1.00000	6.00000
Not transferred due to rounding				0.00000
	Total			27.60508

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Rhys STENHOUSE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Marc BOZZA	6	1.00000	6.00000
Transfer to Mandy BRYSON	1	1.00000	1.00000
Transfer to John HASTON	57	1.00000	57.00000
Transfer to Alan NIMMO	25	1.00000	25.00000
Transfer to Robert SPEARS	19	1.00000	19.00000
Transfer to Marc BOZZA	3	0.30254	0.90762
Transfer to Mandy BRYSON	1	0.30254	0.30254
Transfer to John HASTON	32	0.30254	9.68128
Transfer to Alan NIMMO	6	0.30254	1.81524
Transfer to Robert SPEARS	6	0.30254	1.81524
No further preference	15	1.00000	15.00000
No further preference	3	0.30254	0.90762
Not transferred due to rounding			0.00000
	Total		138.42954

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Marc BOZZA

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mandy BRYSON	23	1.00000	23.00000
Transfer to John HASTON	13	1.00000	13.00000
Transfer to Alan NIMMO	36	1.00000	36.00000
Transfer to Robert SPEARS	61	1.00000	61.00000
Transfer to Mandy BRYSON	2	0.30254	0.60508
Transfer to John HASTON	15	0.30254	4.53810
Transfer to Alan NIMMO	4	0.30254	1.21016
Transfer to Robert SPEARS	7	0.30254	2.11778
No further preference	34	1.00000	34.00000
No further preference	4	0.30254	1.21016
Not transferred due to rounding			0.00000
	Total		176.68128

Transfers Report

This report contains the transfers results.

Stage 6 - Surplus of Alan NIMMO

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mandy BRYSON	212	0.01584	3.35808
Transfer to John HASTON	127	0.01584	2.01168
Transfer to Robert SPEARS	414	0.01584	6.55776
Transfer to Mandy BRYSON	7	0.00479	0.03353
Transfer to John HASTON	47	0.00479	0.22513
Transfer to Robert SPEARS	28	0.00479	0.13412
No further preference	492	0.01584	7.79328
No further preference	38	0.00479	0.18202
Not transferred due to rounding			0.00920
	Total		20.30480

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Mandy BRYSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John HASTON	17	1.00000	17.00000
Transfer to Robert SPEARS	346	1.00000	346.00000
Transfer to John HASTON	13	0.30254	3.93302
Transfer to Robert SPEARS	8	0.30254	2.42032
Transfer to John HASTON	14	0.01584	0.22176
Transfer to Robert SPEARS	71	0.01584	1.12464
Transfer to John HASTON	1	0.00479	0.00479
No further preference	353	1.00000	353.00000
No further preference	12	0.30254	3.63048
No further preference	127	0.01584	2.01168
No further preference	6	0.00479	0.02874
Not transferred due to rounding			0.00000
	Total		729.37543

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of John HASTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert SPEARS	165	1.00000	165.00000
Transfer to Robert SPEARS	454	0.30254	137.35316
Transfer to Robert SPEARS	51	0.01584	0.80784
Transfer to Robert SPEARS	12	0.00479	0.05748
No further preference	378	1.00000	378.00000
No further preference	995	0.30254	301.02730
No further preference	90	0.01584	1.42560
No further preference	36	0.00479	0.17244
Not transferred due to rounding			0.00000
	Total		983.84382